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Question 1

Question Type: MultipleChoice

A parts distributor has a facility that includes several buildings that are used as warehouse. All the warehouses together represent one
subinventory in an inventory organization.

Each building is multistoried, and each floor (story) has several rooms within each building that are unique to that building. All rooms are
used to store material, and the distributor needs the ability to store material and pick material from these rooms.

What is the optimum number of segments that you would recommend for the Stock Locator flexfield?

Options:

A-1
B-2
C-3
D- 4
E-5

Answer:




Question 2

Question Type: MultipleChoice

The client uses an external application as the source for cycle counts.

What value should be used for the profile option INV: CCEOI Commit Point to ensure successful processing of the Import Cycle Count
Entries from Open Interface concurrent program consistently?

Options:

A- Create
B- Process
C- Simulate

D- A number

Answer:

D



Question 3

Question Type: MultipleChoice

Select two conditions which will permit the transfer of lot-controlled items between inventory organizations.

(Choose two.)

Options:

A- Item is lot-controlled at the subinventory level.

B- Item is lot-controlled in either the shipping or receiving organizations.

C- Item is lot-controlled in both the shipping and receiving organizations.

D- Item is lot-controlled in the receiving organization, but not the shipping organization.

E- Item is lot-controlled in the shipping organization, but not the receiving organization.

Answer:

C E

Question 4




Question Type: MultipleChoice

A Is a container for a unique set of information on a Daily Business Intelligence overview page

Options:

A- Report
B- Region
C- Dashboard

D- Key Performance Indicator

Answer:

B

Question 5

Question Type: MultipleChoice

Identify four tasks that you can perform using Oracle Workflow in Oracle E-Business Suite Release 12. (Choose four.)



Options:

A- Automate business processes.

B- Generate account code combinations.

C- Approve standard business documents.

D- Send notifications using Advanced Queuing.

E- Generate inventory item numbers using item generator workflow.

F- Integrate with third party business systems that are not on a company network.

Explanation:

http://download.oracle.com/docs/cd/A60725 OHYPERLINK
'http://download.oracle.com/docs/cd/A60725_05/html/comnls/us/oe/oefb1.htm'5/html/comnls/us/oe/oefbl.htm
Explanation:

http://download.oracle.com/docs/cd/A60725 OHYPERLINK
'http://download.oracle.com/docs/cd/A60725_05/html/comnls/us/oe/oefbl.htm'S/html/comnis/us/oe/oefbl.htm
Explanation:

http://download.oracle.com/docs/cd/A60725 OHYPERLINK

'http://download.oracle.com/docs/cd/A60725 05/html/comnls/us/oe/oefbl.htm'5/html/comnis/us/oe/oefbl.htm
http://download.oracle.com/docs/cd/B34956_01/current/acrobat/120wfag.pdf

Answer:

A B,D,F



Question 6

Question Type: MultipleChoice

What are the three elements involved in submitting a concurrent request? (Choose three.)

Options:

A- selecting Operating Unit

B- selecting report language

C- providing completion option

D- defining a submission schedule

E- selecting the request or request set to be submitted

Answer:

C,DE

Question 7

Question Type: MultipleChoice




You receive a request to create a new responsibility for US Payables Manager. The request states that the new responsibility should
have access to all menu items except Invoice Payments.

Identify two options that you would use to restrict the Invoice Payments option on the new US Payables Manager responsibility. (Choose
two.)

Options:

A- Remove the request group from the new US Payables Manager responsibility.

B- Create a Menu Exclusion for Invoice Payments on the US Payables Manager responsibility.
C- Create an Item Exclusion for Invoice Payments on the US Payables Manager responsibility.
D- Create a Security Attribute for Invoice Payments on the US Payables Manager responsibility.

E- Create a new menu excluding the Invoice Payments option and attach the new menu to the responsibility.

Answer:

B, E

Question 8

Question Type: MultipleChoice




Identify three true statements about defining actions In Oracle Alert. (Choose three.)

Options:

A- An alert can contain only one Action Set.

B- An alert can contain any number of Action Sets.

C- When multiple actions are defined they must be included In an Action Set.

D- Oracle Alert waits for user response before executing next action in an Action Set.
E- When multiple actions are defined, they do not need to be included in an Action Set.

F- Oracle Alert does not wait for user response before executing next action in an Action Set

Answer:

B,C,F

Question 9

Question Type: MultipleChoice

Identify the two benefits of using Multi-Org Access Control. (Choose two.)



Options:

A- View asset information across multiple asset books.

B- Restrict access to users based on their Organization assignments.

C- Submit and view data across different Ledgers using a single responsibility.

D- Enter Payables invoices for different Operating Units using a single responsibility.

E- View Consolidated requisitions across Operating Units using a single responsibility.

Answer:

D, E

Question 10

Question Type: MultipleChoice

Identify two features of Oracle Workflow in Oracle E-Business Suite Release 12. (Choose two.)

Options:




A- enhances data security

B- helps you focus on managing individual business transactions

C- has each activity in a workflow as a PL/SQL function or a notification or a sub process

D- can integrate business functions only between business processes within a single company

E- can integrate business processes within an enterprise, as well as between different organizations and different systems

Answer:

C E

Question 11

Question Type: MultipleChoice

Which three statements are true about Oracle Workflow and Oracle Alerts? (Choose three.)

Options:

A- Alerts can perform only one action.

B- Workflow can support complex conditional logic.



C- Alerts can be configured for any frequency of occurrence.
D- Workflows can wait for a user response during an activity.
E- Alerts can perform multiple actions In a sequence that you specify.

F- Alerts run only when a database record is either updated or created.

Answer:

B,D,E

Question 12

Question Type: MultipleChoice

You are the Human Resources lead for the ERP Implementation of ABC Corporation. You have defined the employees in Oracle Human
Resources. Select three activities that utilize the employee record. (Choose three.)

Options:

A- Approvals

B- Asset assignment



C- Organization creation
D- Journal Entry creation

E- AutoCreate Purchase Orders

Answer:

A B, E
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